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CLASS - X (a) stemm (b) e
SCIENCE AND TECHNOLOGY (c) shatEeRt (d) Teaanfet
Term-l 3. The gap between two neurons is called a
Time : 3 hrs M.M. : 50 (a) dendrite (b) synapse
Instructions :- () axon (d) impulse
1. 1920 7% % g9 Afard, qen sgfaesmeda € 1 et RIfYTRT o WeA % Wl T T FEd © -
2. 21928 TH H YT 2 3R F T | (a) giHehI (b) faed
3. 29U THFFUH3 AR F T (c) TsEmM (d) AT
4. THIRN N5 IAFFEI 4. Among Five 'R's the meaning of first 'R' is.
5. %® Ul H e 99 (Internal Choice) f&&m T (a) Refuse (b) Reuse
6. FurHYE forT oA o 3% AHifRa oft | (c) Repurpose (d) Recycle
Section-| < YRR & H ¥ gt R 1 319 §
1. Butanone is a four-carbon compound with the (@) TR (b) TA: WM
functional group. (©) T: FiH (d) T T

(8) Carboxylic acid (b)  aldehyde 5. Element X forms a chloride with the formula X XCI,,

(c) Ketone (d) Alcohol Which is a solid with a high melting point X would
FEA T-FHIe AT & TS ThrATH T8 most likely be in the same group of the periodic table
(a) wEifReTh 37T (b) Tulcerze as.
(c) <R (d) Tewled (@) Na (b) Mg

2. Which of the following is not a part of the female (c) Al (d) Si
reproductive system in human beings? T X XCl, g3 a1l Th FAEe Sl TS fFwaIme
(a) Ovary (b) Uterus qen fgent e 2ifys 1 oTed ORot § U7 dc dved:

() Vas deferens (d) Fallopian tube fohe e o eiarid grm?



(@) Na (b) Mg
(c) Al (d) Si
. The Melting point of pure Ethanoic acid is.
(@) 290K (b) 240K
(c) 310K (d) 370K
IS THATEH 3TFA 1 eI Bidl ¢ |
(@) 290K (b) 240K
(c) 310K (d) 370K

. Where should an object be placed in front of a convex
lens to get a real image of the size of the object?

(@) Atthe principal focus of lens
(b) At the twice of focal length
(c) At infinity
(d)

d) Between the optical centre of the lens and its

principal focus
forelt fole =1 aTafaeh qen THM WISt 1 Yidfeid 9T i &
fau faer =01 STt of9 & WA wEl W@?
(@) @ % TEA TR W
(b) PR T W ITH Tq W
(c) 3Md W
(d) 9 % FRIR shg qq1 G HIHH & oid
. The human eye forms the image of an object at its.
(@) Cornea (b) Iris
(c) Pupil (d) Retina

10.

11.

TFE 17 o wm W R a5 o wfafss a9 €, 9% 7
(a) ehrfen (o) uftarem
(c) gaeit (d) zfeTea

Which of the following statements is not a correct
statement about the trends when going from left to right
across the perios of periodic table.

a) The elements became less metallic in nature

a) Tl o Hifcash Uhfd Hedt B

b) The number of valence electrons increases

) The atoms lose their electrons more easily
C) TRHIY ST ¥ ST 1 TN I % |
)

The oxides become more acidic

(
(
(
(b) THSTRAT SRl hi T §EF S ¥ |
(
(
(
(d) =TT SRS iy oTld g [ T

Focus is virtual in the case of

(@) concave mirror (b) convex mirror

(c) plane mirror (d) None of the above
IR U0 % He H S g ¥

(a) s1Edd SUU (b) 3T TUU

(c) THAA TG0 (d) =g 7=l

Which phenomenon is responsible for increasing the
apparent length of day by 4 minutes.

(@) Refraction of light (b) Scattering of light

(c) Dispersion of light  (d) Atmospheric refraction



12.

13.

14.

i 1 fagia ft 1 o 4 fie agr g forieR § -
(@) T I 7Y (b) TRTS T YehlvA
(C) R I YehiviA (d) agHEc STqedH
Which of the following constitute a food chain?
(@) Grass, wheat and mango

(b) Grass, goat and human

(c) Goat, cow and elephant

(d) Grass, fish and goat

191 9 9 1 SRR g 1 o o §:-

(@) =M, g 3R Y (b) T, L T T
(c) oK, T e greft (d) =g, et AUl SR

Which person of India is known as 'Water Man'? This
person from Rajasthan had been awarded with
'Stolkholm' award for safe conservation of water
Resources.

(@) Dr. Narinder Singh  (b) Amrita Bishnoi

(c) Dr. Rajender Singh (d) A.K.Banarjee

forg =afaa =01 YRA & AR A S A9 Y ST ST S | TS
% 30 Al I St FHeHT ol g w1 8q 2015 | RikEm
TERR ot S|

(a) =1 7s g (b) =1 = fo'

(c) mar forre (d) W & esf

The distance between the pole and centre of curvature
of a spherical mirroris called ...............

15.

16.

17.

(@) radius of curvature  (b) focal length

(c) object distance (d) image height

T TMferd Y0 & §d T Tohdl h ok o Bl G oo,
FHEATH < |

(a) e e (b) wrEE T

(c) fom =i gh (d) wfafse %1 S

The way by which chemicals enter our food chain and
accumulate progressively at each trophic level. This
phenonmenon is known as.

(a) Pasturization (b) Eveporation

(c) Concentration (d) Biomagnification

g " S g’ THREH T SRR ge | ufae g,
T U TR T ST WUfed B0 9§, oo e T |

(a) TSR (b) aTodTeRTT
(c) wigum (d) & smaEA
Electronic configuration of Al+3is

@ 2,8,3 b) 2,8,8
() 2,8 d) 2,8,8,3
Al+3 &1 geterfen fama 7 -

@ 2,8,3 (b) 2,8,8
(¢ 2,8 d) 2,8,8,3

Refractive index of a medium does not depend on.
(a) Nature of the medium

(b) Wavelength of the light used

(c) Temperature

(d) Angle of incidence



FgTaEn § Al 1 fohteeia | giean 9 uen € S ¥,

TG ST ... FHEA ¢ |
(a) 3 gfe W (b) frehe 3fie T
(c) Hifaan foig (d) /g gfeear
20. The image represents a carbon compound.
O|
C
/' \
H,C CH,
(a) alcohol (b) aldehyde
(c) carboxylic acid (d) ketone
T&IA o Tk e Aifies wiar §
(i
18. Mendelev's periodic table's horizontal rows were /C\
called............. H,C CH,
(@) Perllods (b) groups T S A ) i T T 3
(?) series (d)‘ rc?ws | () TeEEw (b) Tfeere
WﬁWWﬁaﬁaW ............. W‘l?ﬁ%l (C) WW (d) qﬁﬁq
(a) emed (b) wE Section - B
(c) i (d) g 21. How does chemical co ordination take place in
19. The crystalline lens of people at old age becomes animals?
milky and cloudy; this condition is known as .............. Siqedt # e gy HY femfed g 872
(a) Hypermetropia (b) Myopia 22. Why does Menstruation occur?
FJEE F Bl 72

(c) Cataract (d) Presbyopia



23.

24.

25.

26.

27.

28.

Explain why the planets do not twinkle?

e it o 78 = 727 fenfenmd?

Find the power of a concave lens of focal length 2m.

2 m HIhd g a1l TRl sTeddl oiF St &8l 1 hife |

Name the following compounds

1= TRl a1 AR I
H

(@ CH;—CH,-Br (b) H—é=O

Why do you think the noble gases are placed in a
seperate group?

3Tk STTIR IF T4l &l 3T 99g § = 1@ Tr?
There are various agents which help in transfer of
pollen grains from anther of one flower to stigma of
another flower. How do insects help in this?

TY 980 9 & § Sl Th I o GoheR § T S8 I8
Ffferm W TIHARd i § | 39 Ufshan § i %l 7eg
g2

IUse Mendeleev's periodic table to perdict the
formulae for the oxides of the following elements.

USAl® i 3TEd TR &1 39 X fr=fafaa et
SATFAEE T A H STTAM 1T |
(@ K (b) C

(c) Al (d) Si

29.

30.

31.

Section-C
Name

(@) Two elements that have two electrons in their
outer most shells

(b) Two elements with filled outermost shells

(c) Two elements that have single electron in their
outermost shells

& A FqET

(@) < a@ foras el Fw H < geraeE g
(b) < et Foredn aedt e ol &

(c) =1 daca TSk amedl el § Th Terded Bl

A students sits on the last bench of the class and is
not able to see the black board? What could be the
defect, the child is suffering from? How can it be
corrected?

T BT Hell § 0D & T 93d1 § 3R 9% VMg o=d: T
3@ Irdr? 98 A ¥ ik A ufad 1 "ehdr € qen a8
FY IY=IRA &1 Fehdl §?

Draw a labelled diagram of the longitudinal section of

a flower.
o9 &t T e H1 AHifcha T SR |



32.

Section-D
Answer any two out of three quesitons.
= 3 el | & forgdl =1 o1 ST SifSiw )
Name the type of mirror used in following situation
(@) Headlights of a car
(b) Rear view mirror of vehicles
(c) Solar furnaces
Support your answer with reason.
e feefoatl # syt <901 o1 TR SIaTEU-
(@) et &R 1 3w (T-ae2)
(b) fowER amEA w1 gTE/ARE 3T U
(c) R st
3T IW F SR Figd gfte FHIfS 25x25=5



